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TUIR

TU BEBER

TU VENIR

TU HACER

TU JUGAR

USTED TENER
USTED JUGAR
USTED TRAER
USTEDES VER

TU SENTIRSE
USTED BAILAR
USTED ACAMPAR
USTEDES BEBER
USTEDES TENER
USTEDES TRAER
NOSOTROS HACER
VOSOTROS JUGAR
VOSOTROS TENER
USTEDES COCINAR
VOSOTROS SENTIRSE
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Imperfect tense Practice
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TU VER

TU TENER

TU TRAER

TU TOMAR

TU BAILAR

USTED BEBER
USTED VENIR
USTED HACER
NOSOTROS IR
USTED SERVIR
USTEDES HACER
USTEDES TOMAR
USTEDES PEDIR
USTEDES DECIR
VOSOTROS VENIR
USTED MOLESTAR
VOSOTROS TRAER
NOSOTROS BAILAR
USTEDES SENTIRSE
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Z SRVT
A AHETD
i AT NE
CBEIC
P ANA I
DM I S A
EV AAN
A SMCC
AMOTA
TASCS
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Al DEFP
V E I AN
N TABA
Al ART
USTED IR
TU DECIR
USTED VER
TU PEDIR
USTEDES IR
VOSOTROS IR
USTED DECIR
USTED PEDIR
USTED TOMAR
VOSOTROS VER
YO LEVANTARSE
USTEDES JUGAR

USTED COCINAR
USTEDES VENIR
NOSOTROS TRAER
VOSOTROS TOMAR
NOSOTROS TENER
USTEDES ACAMPAR
USTEDES MOLESTAR
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